11

(Cross Elasticities)
Stated Preference
. A
BTS
. B

BTS

(

BTS)



. C
. D
Logit
11
Pn(i) -
Logit

Multinomial Logit

2

Nested Logit

117



118

Pk

X Ik

(Direct Elasticity)
1.2
(Cross Elasticity)

13

£*n =~Pn(j">x jnkPk (7-3)

Multinomial - Logit



119

BTS

Jb= °-2674 - 0.02905 Income + 0.6194 RMA 11 - 0.02745 TtimeArBs - 0.0343 ToostArBs
Vo .8,= -0.285 - 0.02905 Income + 0.6194 RM(hdBm- 0.02745 TtimeorgBis - 0.0343 Toostordus
VBTS 1.11 - 0.02905 Income + 0.6194 RMBTS - 0.02745 TtimesiS- 0.0343 TcostBIS
Vigo = 0.6194 RMyflg - 0.02745 Ttimeyy - 0.0343 Tcostg

(Direct Elasticity) (Cross Elasticity)

-0.36 0.33

-0.81 0.75
BTS

-0.55

-0.77

-0.80
-0.12

-0.73
-0.29



120

BTS

-0.2346 + 1.229 RMA ... - 0.02854 TtimeArBs- 0.4769 TcostAr.../Income
Voré Bs= -0.6716 + 1.229 RMm jI5- 0.02854 TtimeorcsB5- 0.4769 TcostM 3l 1 come
vers = 0.9177 +1.229 RMBIS- 0.02854 TtimeBiS- 0.4769 TcostBISIncome
Vo = 1.229 RMpy - 0.02854 Ttimeyd - 0.4769 Tcosty,/Income

(Direct Elasticity) (Cross Elasticity)

-0.51 0.41

-0.57 0.46
BTS

-0.59

-0.35

-0.98
-0.13

-1.23
-0.17
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BTS
\/”— _0-3851 tr8129.. . - 0.03378 TtimeArBs- 0.04026 TcostAIEE
Vor[Br -0.8594 —kr.g129 RM0rdBm - 0.03378 TtimeMJ3s —0.04026 TcostadBn
VBIS — 0.8129 RMBs —0.03378 TtimeBIS - 0.04026 TcostBIS

(Direct Elasticity)
BTS
-0.75
-0.98

-0.77
-0.10

-0.88
-0.23



122

BTS

VAvBE= -0-3643 +0.8073 RMAirJm- (0.03583 - 0.01256 Age) TtimeAirBus - 0.03979 TcostAL3w
» - -0.8384 +0.8073 RMM Bm- (0.03583 - 0.01256 Age) Ttime0® * - 0.03979 TcostZ_Bm
VBIS = 0.8073 RMBs- (0.03583 - 0.01256 Age) TtimeBIS- 0.03979 TcostBTS

(Direct Elasticity)

BTS

( 30 ) -0.80

( 30 ) -0.52
-0.97

( 30 ) -0.82

( 30 ) -0.53 —
-0.10

( 30 ) -0.93

( 30 ) -0.61

-0.22



BTS

VArBs= -0.8976 +0.7958 RMMJIm - 0.00154 TtimeAir8ll> Income - 0.02307 TcostAir B

yM Br -1-052 +°-7958 RMortj*. - 0.00154 Ttime(M Bus-Income - 0.02307 Tcost0rdB16
VBIS = 0.7958 RMbts - 0.00154 TtimeBT5-Income - 0.02307 TcostBTS

(Direct Elasticity)
BTS
-0.45
-0.37

-0.70
-0.10

-0.80
-0.17

123



124

yArju, = °-7846 + °-7242 RMArBy - 0.00121 TtimeAjrBm. Income - 0.01416 TcostArBm
Vord But= -0.7456 . 0.7242 RMo~ - 0.00121 ttimeo®-Income - 0.01416 TcostOrdJSm

VAD = 0.7242 RMAWO- 0.00121 TtimeAL Income - 0.01416 TcostAlD
(Direct Elasticity) (Cross Elasticity)
-0.30 0.45
-0.34 0.50
-0.84
-0.09
-0.85

-0.15



125

VArBu= 0.3159 +0.9962 RMAirBus- 0.00083 TtimeAir&ls-Income - 0.01328 TcostA" &t
Vor*Br  -1-079 +0.9962 RM(M8&1- 0.00083 TtimeM  eIncome - 0.01328 TcostOni8lls
Vo = 0.9962 RMyy, - 0.00083 Ttimepy,tIncome - 0.01328 Tcosty,)

(Direct Elasticity) (Cross Elasticity)

-0.34 0.67
-0.33 0.66

-1.10
-0.23

-1.1%6
-0.18



126

VArBii= 0.18 +0.03652 Income +0.5716 RMALBB- 0.05454 AccessArBs - 0.02002 MtimeAir Bs
- 0.0481 TcostArBs+ 1.081 ScatAllllls
0.571 6 RMOrdBus - 0.05454 Access0,l4m- 0.02002 Mtime0' »
- 0.0481 Tcost0"Bs+ 1.081 SeatQuBb

(Direct Elasticity)

-0.53
-0.39
-0.18

-0.51
-0.37
-0.31



127

VA.BS= °-8677 +°-5106 RM~ - 0.07308 Access™ - 0.02041 MtimeAirBus
- 0.6349 TcostAirBu/lncome + 1.207 SeatArBn

B= 05106 RM™ gus- 0.07308 Access”™ - 0.02041 MtimeOnill5
- 0.6349 Tcost® gllincome + 1.207 Seat0'dBm

(Direct Elasticity)

-0.96
-0.59
-0.35

-0.66
-0.45
-0.36



1.2

0.46

0.2

0.75

(Bus Priority)

128

038
11

(Bus Lane)

0.33 0.67



1.3

Stated Preference

129
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